
sandwich_model.bom.txt Fri Apr 08 15:36:15 2016 1

3D      1       BaseNutLockLeft         
3D      2       BoxMidLockHolder                
3D      2       BoxMidLockSlot          
3D      1       EndNutLockLeft          
3D      1       FrameNutLockBottomLeft          
3D      1       FrameNutLockBottomRight         
3D      1       FrameNutLockLeft                
3D      1       FrameNutLockRight               
3D      1       FrameNutLockTopCoreLeft         
3D      1       FrameNutLockTopCoreRight                
3D      1       LowerZBraceLeft         
3D      1       LowerZBraceRight                
3D      1       TopCoreNutLock          
3D      1       TopCoreZNutLock         
3D      1       UpperZBraceLeft         
3D      1       UpperZBraceRight                
3D      1       BedClipLeftInner                
3D      1       BedClipLeftOuter                
3D      1       BottomZRodMount         
3D      1       Carriage                
3D      1       E3D_V6_BowdenHotendClip         
3D      1       ExtruderArm             
3D      1       Gear1           
3D      1       Gear2           
3D      1       GearedExtruder          
3D      1       GearedExtruderMid               
3D      1       GearedExtruderTop               
3D      2       GnasherTeeth            
3D      2       GnasherToothless                
3D      1       LeftIdlerCorner         
3D      1       LeftXEnd                
3D      13      NutHolderBottom         
3D      9       NutHolderTop            
3D      1       PSUExtruderHolder               
3D      1       PSULeftClip             
3D      1       PSURightCover           
3D      1       PSUTopClip              
3D      1       RamboHolder             
3D      1       RightIdlerCorner                
3D      1       RightXEnd               
3D      1       ShallowBoxCornerLeft            
3D      1       ShallowBoxCornerLeftLock                
3D      1       ShallowBoxCornerRight           
3D      1       ShallowBoxCornerRightLock               
3D      2       SteepBoxCornerLeft              
3D      2       SteepBoxCornerRight             
3D      1       TopZRodMount            
3D      1       XYMotorMountLeft                
3D      1       XYMotorMountRight               



sandwich_model.bom.txt Fri Apr 08 15:36:15 2016 2

3D      1       YRodMountLeft           
3D      1       YRodMountLeftEndStop            
3D      2       YRodMountRight          
3D      2       ZAngleBearingHolder             
3D      2       ZAngleBoltHolder                
3D      2       ZBedFrontBearingHolder45                
3D      2       ZBedFrontBearingHolder65                
3D      1       ZHingeMountLeftLower            
3D      2       ZHingeMountLeftUpper            
3D      1       ZHingeMountRightLower           
3D      1       ZMotorMount             
3D      1       ZNutMount               
3D      1       ZStop           
PART    1       BedPlate200x200mm       ALU Heatbed MK3 (214x214mm OD) kit, with: Thermistor 100k, Glass 200x200mm, Insulator 
200x200mm, Clips 9mm, Prusa Heatbed Mount Kit,  http://reprap.me/alu-heatbed-mk3.html
PART    1       Coupler5mm8mm   5mm to 8mm z-axis coupler       http://alfa-tech3d.com/en/motor/couplers-for-5-and-8-mm-z-axis
-3d-printer.html
PART    1       E3D_V6_BowdenHotend     E3D V6 Hotend Full Kit 12V 3mm Bowden w/0.4mm nozzle    http://reprap.me/e3d-hotend-3m
m-bowden.html
PART    2       Fan_40mm        40x40x10mm 12V fan      http://alfa-tech3d.com/en/fan/40-x-40-x-10-mm-12v-axial-fan-with-ball-
bearing-.html
PART    2       GT2_20  GT2-20 Pulley with 3xM4 Grub screws     http://alfa-tech3d.com/en/timing-belt-pulley/gt2-20-pulley-wit
h-3-x-m4-grub-screws.html
PART    1       GT2_Belt_3m     GT2-20 Belt, 3m http://alfa-tech3d.com/en/timing-belt-pulley/gt2-6-timing-belt-2-meter-and-2-x
-t20-o8-pulley-with-grub-screws.html
PART    1       Groove605UU     605UU Groove-style bearing      
PART    4       LM8LUU  Linear ball bearing type LM8LUU http://folgertech.com/products/2pcs-8mm-bearing-bushing-lm8luu-linear-
motion-reprap-3d-printer
PART    2       LM8UU   Linear ball bearing type LM8UU  http://alfa-tech3d.com/en/bearing/linear-bearing-lm8uu.html
PART    4       M2PoziHead              
PART    7       M3HexBolt               
PART    180     M3PoziHead              
PART    1       M3SelfTapping           
PART    5       M4HexBolt               
PART    18      M5HexBolt               
PART    1       MK8_DriveGear   MK8 Drive Gear, direct drive    http://alfa-tech3d.com/en/extruder/mk8-drive-gear-175-and-30mm
.html
PART    26      MR625ZZ SKF ball bearing, single row, P/N 625ZZ http://alfa-tech3d.com/en/bearing/skf-625zz-ball-bearing.html
PART    3       MechanicalEndStop       Mechanical endstop V1.2 http://reprap.me/makerbot-mechanical-endstop-v1-2.html
PART    35      Misumi1515      Aluminium Extrusion (Type 3) 15x15mm    http://makerbeam.com/openbeam/beams
PART    28      MisumiHBLTBS3           http://makerbeam.com/openbeam/brackets
PART    4       Nema17  NEMA17 High Torque Bipolar Hybrid Stepper Motor, 2A 1.8deg/step 84oz-in P/N 17HS19-2004S1       http:/
/eu.stepperonline.com/3d-printer-nema-17-stepper-motor-59ncm84ozin-2a-17hs192004s1-p-18.html
PART    2       NutM8x1 DIN 935 M8x1 BZP 8.8 Hexagon nut        http://alfa-tech3d.com/en/nuts/hexagon-nut-din-934-88-bzp-m8x1
f.html
PART    1       PSU12v          http://alfa-tech3d.com/en/power/power-supply-s-400-12-33a-dc-output.html
PART    1       RamboV1_2       RAMBO v1.2fd Controller (with varistor fixed)   http://reprap.me/rambo-v1-2.html
PART    2       XRod    8mm Hard chromium plated round steel    http://alfa-tech3d.com/en/8-mm-rod/8mm-x-300mm-hard-chromium-p
lated-round-steel.html



sandwich_model.bom.txt Fri Apr 08 15:36:15 2016 3

PART    2       YRod    8mm Hard chromium plated round steel    http://alfa-tech3d.com/en/8-mm-rod/8mm-x-300mm-hard-chromium-p
lated-round-steel.html
PART    2       ZRod8mm 8mm Hard chromium plated round steel    http://alfa-tech3d.com/en/8-mm-rod/8mm-x-300mm-hard-chromium-p
lated-round-steel.html
PART    1       ZRodThreaded8mm M8x1 threaded rod DIN975 BZP 8.8        http://alfa-tech3d.com/en/8-mm-rod/m8x1-x-250mm-thread
ed-rod-din-975-bzp-88.html
ASSY    2       BoxHalf Misumi1515 (413mm), Misumi1515 (413mm), Misumi1515 (169mm), Misumi1515 (169mm), Misumi1515 (405mm), Mi
sumi1515 (405mm), Misumi1515 (435mm), Misumi1515 (379mm), Misumi1515 (379mm), MisumiHBLTBS3, MisumiHBLTBS3, MisumiHBLTBS3, Mis
umiHBLTBS3, MisumiHBLTBS3, MisumiHBLTBS3, MisumiHBLTBS3, MisumiHBLTBS3, ShallowBoxCorner, ShallowBoxCorner, SteepBoxCorner, St
eepBoxCorner    
ASSY    2       LeftZAngleBar   Misumi1515 (100mm), ZAngleBearingHolder, ZAngleBoltHolder       
ASSY    1       TopCoreXY       Misumi1515 (368mm), Misumi1515 (338mm), Misumi1515 (315mm), Misumi1515 (315mm), Misumi1515 (35
mm), Misumi1515 (35mm), MisumiHBLTBS3, MisumiHBLTBS3, MisumiHBLTBS3, MisumiHBLTBS3, XYMotor, XYMotor, LeftIdlerCorner, RightId
lerCorner, YRodMount, YRodMount, YRodMount, YRodMount, XAssembly, GT2_Belt_3m, MechanicalEndStop, MechanicalEndStop     
ASSY    1       XAssembly       LeftXEnd, RightXEnd, Carriage   
ASSY    2       XYMotor XYMotorMount, Nema17    
ASSY    1       ZAssembly       Misumi1515 (368mm), Misumi1515 (338mm), Misumi1515 (360mm), Misumi1515 (360mm), Misumi1515 (55
mm), Misumi1515 (55mm), MisumiHBLTBS3, MisumiHBLTBS3, MisumiHBLTBS3, MisumiHBLTBS3, TopZRodMount, BottomZRodMount, NutM8x1, Nu
tM8x1, Object, Object   
ASSY    1       ZBed    Misumi1515 (250mm), BedPlate200x200mm, Object, Object   
ASSY    1       ZBedRails       UpperZBrace, UpperZBrace, ZNutMount, ZBed, ZRunner, ZRunner     
ASSY    2       ZRunner LeftZAngleBar, LowerZBrace      


